A recorrence relation
$$\{a_n\}$$
 is an equation that
expresses a_n in terms of a_0, q_1, \dots, q_{n-1}
for all $n \ge n_0$, when $n_0 \ge 0$
 $\{X_n\}$ is a solution to $\{a_n\}$ if each term X_i satisfies
the same equation as a_i
 $(X_n = 3n is a solution to$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_n = 2a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for all $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n-2}$ for $n = 2, 3, \dots$
 $a_{n-1} - a_{n$



٢٨

•
$$H_{n-1}$$
 moves to set discs $1, 2 - n - 1$ from
Pes 3 to pes 2. Corresponds to problem with
a replaced by $n-1$
Conclusion: $H_n = 2H_{n-1} + 1$ (and $H_1 = 1$)

$$H_{n} = 2^{n} - (: 2^{n} - (: H_{n} = 2H_{n-1} + (: H_{n} = 2H_{n-1} + (: H_{n} = 2(2^{n-1}) + (: H_{n} = 2(2^{n-1}) + (: H_{n} = 2^{n} - (: H_{$$

We will see a method to solve such recorrence equations in Section 8.2

$$\frac{\sum \operatorname{com} p(u_{1}^{2})}{\sum (u_{1}^{2})^{2}} = \frac{\operatorname{for} p(u_{1}^{2}) \operatorname{for} p(u_{1}^{2}) \operatorname{for} p(u_{2}^{2})}{\sum (u_{1}^{2})^{2}} = \frac{\operatorname{for} p(u_{2}^{2})}{\sum (u_{1$$

Rorn 8.2 Solving linear recorrence equations

 $(\Box) \quad T^{h} - C_{1} T^{h} - C_{2} T^{h} - C_{2} T^{h} - C_{2} T^{h} = 0$ is the characteristic equation for the sequence band satisfying $a_n = C_1 a_{n-1} + C_2 a_{n-2} + \cdots + C_n a_{n-k}$ Solutions to (I) are called characteristic roots. Lemma Suppon 25, and 4ty are solutions to and c is a constant then 1) {c.sn} is a solution to (*) 2) Vc, d constants (csn + dtn) is a solution to (*) $S_n = C_1 S_{n-1} + C_2 S_{n-2} + \cdots + C_k S_{n-k}$ prost: $C : S_{\eta} = C \left(C_{l} S_{\eta-l} + C_{2} S_{\eta-2} + \cdots + C_{k} S_{h-k} \right)$ $= C_1 \underbrace{CS_{n-1}}_{1} + C_2 \underbrace{C \cdot S_{n-2}}_{1} + \cdots + C_n \underbrace{C \cdot S_{n-n}}_{1}$ So LCSn Johnes * $if S_{y} = C_{1}S_{n-1} + C_{2}S_{n-2} + C_{k}S_{n-k}$ and ty = C, ty-1+C, ty-2+ + Ck ty-k then $S_{n+1} = C_1(S_{n-1} + C_1(S_{n-1} + C_1(S_{n-1} + C_1(S_{n-1} + C_{n-1})))$ Now 2) follow, from this and 1) \square .

The can when
$$k=2$$

(*) $\alpha_n = c_1 \alpha_{n-1} + c_2 \alpha_{n-2} \sim r^2 - c_1 r - c_2 = 0$ (characteristic eq.)
Theorem 1 Suppon $r^2 - c_1 r - c_2 = 0$ has disbinct roots $r_{i_1} r_{i_2}$
Then $\{\alpha_n\}$ solves * if and only if
 $\alpha_n = \alpha_1 \cdot \tilde{r}_1 + \alpha_2 r_2^n$ for $n = l_1 2 - -$ and $\alpha_{i_1} \alpha_2 \in \mathbb{R}$

Proof: let
$$r_{1} \neq r_{2}$$
 be reats in $r^{2} - c_{1}r - c_{2} = 0$
then $\Gamma_{1}^{2} - c_{1}r_{1} - c_{2} = 0 = r_{1}r_{1}^{2} = c_{1}r_{1} + c_{2}r_{2}$ for $i = 1, 2$ (A)
Now if we get $a_{1} = \alpha_{1}r_{1}^{n} + \alpha_{2}r_{2}^{n-1}$ for $j = \alpha_{1}r_{1}^{n-1} + \alpha_{2}r_{2}^{n-1}$ $+ c_{2}(\alpha_{1}r_{1}^{n-2} + \alpha_{2}r_{2}^{n-2})$
 $= [c_{1}\alpha_{1}r_{1}^{n-1} + c_{2}\alpha_{1}r_{1}^{n-2}] + [c_{1}\alpha_{2}r_{2}^{n-1} + c_{2}\alpha_{2}r_{2}^{n-2}]$
 $= \alpha_{1}r_{1}^{n-2}[c_{1}r_{1} + c_{2}] + \alpha_{2}d_{2}^{n-2}[c_{1}r_{1} + c_{2}]$ $+ b_{2}(k)$
 $= \alpha_{1}r_{1}^{n-2}[c_{1}r_{1} + c_{2}] + \alpha_{2}d_{2}^{n-2}[c_{2}] + b_{2}(k)$
 $= \alpha_{1}r_{1}^{n-2}[r_{1}^{n-2} + c_{2}r_{2}^{n-2}]$
 $= \alpha_{1}r_{1}^{n-2}[r_{1}^{n-2} + c_{2}r_{2}^{n-2}]$

Conversly, Soppon hay I solves (e) with $a_0 = C_0$ and $a_1 = C_1$ This uniquely determines [ay] so we ned to find did such that an = dirited in with $q_0 = C_0, q_1 = C_1$ We get 2 equations with 2 untrown Q, QL: $C_0 = \alpha_0 = \alpha_1 \cdot \Gamma_1^\circ + \alpha_2 \cdot \Gamma_2^\circ = \alpha_1 + \alpha_2$ $C_1 = a_1 = \alpha_1 c_1 + \alpha_2 c_2$ $C_{0} = \alpha_{1} + \alpha_{2}$ $C_{1} = \alpha_{1} + \alpha_{2} + \alpha_{2}$ $C_1 - C_0 \Gamma_L = \alpha_1 \Gamma_1 - \alpha_1 \Gamma_L$ =) So $\alpha_1 = \frac{C_1 - C_0 \Gamma_1}{\Gamma_1 - \Gamma_2}$ D $C_1 - C_0 r_1 = \alpha_2 f_2 - \alpha_2 r_1$ $\int o \quad (x') = \frac{C_1 - C_0 r_1}{r_2 - r_1}$

Hund there is a unique choice $O + Q_1Q_2$ such that $Q_n = Q_1 \sigma_1^n + Q_2 \sigma_2^n$ so lows (* I with initial conditions $Q_0 = C_0$ $Q_1 = C_1$

Example 3
$$a_n = a_{n-1} + 2a_{n-2}$$
 $a_s = 2, a_1 = 7$
Characteristic equation: $r^2 - r - 2 = D$
Nots $r_1 = \lambda_1, r_2 = -1$
 $\lambda = a_n = a_1 2^n + a_2 (-1)^n$
Determining a_1, a_2 : $a_1 = \frac{C_1 - C_0 r_1}{r_1 - r_1} = \frac{7 - 2 \cdot C(1)}{2 - C(1)} = \frac{9}{3} = 3$
 $a_1 = \frac{C_1 - C_0 \cdot r_1}{r_2 - r_1} = \frac{7 - 2 \cdot 2}{-(-2)} = -1$
 $a_n = 3 \cdot 2^n - (-1)^n$
Theorem 2 lot $C_{11}C_2 \in \mathbb{R}$ with $C_2 \neq 0$ and
soppon $r^2 - c_1 r - c_2 = 0$ has a unique (doole) not r
Then $2a_n$ solver $a_n = c_1 a_{n-1} + c_2 a_{n-2}$ if and only if
 $a_n = a_1 \cdot r^n + a_2 \cdot n \cdot r^n$ for som $a_{11} \cdot a_2 \in \mathbb{R}$

proof: exercin!

 $2 \times amph 5 \quad a_n = 6 a_{n-1} - 2 q_{n-2} \quad a_0 = 1 \quad a_1 = 6$ Characteristic eq: 12-6r+9=0=> r=3 So $\alpha_n = \alpha_1 3^n + \alpha_2 n \cdot 3^n$ Find $\alpha_{1,\alpha_{2}}$: $C_{0} = 1 = \alpha_{0} = \alpha_{1,3}^{0} + \alpha_{2,0,3}^{0} = \alpha_{1}$ $C_{1} = G = G_{1} = G_{1} \cdot 3' + G_{2} \cdot 1 \cdot 3'$ - 3a,+3d, = 3+3Q2 as 2=1 $\delta \circ \alpha_{2} = (G - 3)/3 = 1$ $G_{n} = 3^{n} + n \cdot 3^{n} = (n + 1) 3^{n}$ hoven 3 Cielk i=1,2--k, Cuto

$$if \Gamma^{k} - c_{1}\Gamma^{k-1} - c_{2}\Gamma^{k-1} - \cdots - c_{k} = 0 \quad ha, \quad dishint nors$$

$$\Gamma_{1,1}\Gamma_{2,1} \cdot \Gamma_{k} \quad \text{then} \quad \{a_{n}\} \quad jolocs$$

$$\alpha_{n} = C_{1}C_{n-1} + C_{2}C_{n-2} + \cdots + C_{n}C_{n-k}$$

$$if \quad and \quad only \quad if$$

$$\alpha_{n} = \alpha_{1}\Gamma_{1}^{n} + \alpha_{2}\Gamma_{2}^{n} + \cdots + \alpha_{n}\Gamma_{k}^{n}$$

proof exercin

8.2.3 linear in homogeneous recorrence relations with constant coefficients

Example of such a vecurrence velocities
$$a_n = 3a_{n-1} + 2n$$

generally $a_n = C_1a_{n-1} + C_2a_{n-2} + \dots + C_ka_{n-k} + F(n)$ (*)
Inhomogeneous because of the term F(n)
Associated homogeneous equation to (*) is
 $a_n = C_1a_{n-1} + C_2a_{n-2} + \dots + C_ka_{n-k}$ (*)
Key fact: Every solution to (*) can be obtained
from any (fixed) solution
Theorem 5 (et ha_n^p) be any solution to (*) (called a porticular solution)
The every solution to (*) is of the form $(a_n^h + a_n^h + when han's is
a solution to (*)
Proof support by also solves (*) (bessiles $2a_{n-1}^p$). Then
 $b_n - a_n^p = C_1(b_{n-1}a_{n-1}^p) + C_2(b_{n-2}-a_{n-2}^p) + \dots + C_k(b_{n-k}-a_{n-k}^p)$ F(n)
term due
So $\{b_n - a_n^p\}$ solvers (*) and hence $\{b_n\} = ba_n^m + a_n^p\}$$

So key step when solving (is to find one solution and after that solve (*) $\alpha_1 = 3$ $\Sigma \times 10$ $a_n = 3a_{n-1} + 2n$ homogeneous part an= 3an-1 1-3=0 => root=r Char. eq an = a 3" homogeneous solution Finches Lapl: as FBI=2n is a liner function we guess a Gnear function Py = Cut d as a solution to (*) Then we must have Cutd = 3(c(n-1)+d)+24 - 3cn-3c+3d+2n =(3C+2)n+3(d-C)Must hold for all n so C = 3C+2 and d = 3(d-c) $C = -1 \quad \text{and} \quad d = 3(d+1) \\ d = -\frac{3}{2}$ Que = - n - 32 is a solution to (*) So By The 5, all solutions to (and the form an + an and we know an = 23" So $a_n = \alpha \cdot 3^n - n - \frac{3}{2}$ is the general dolution $c_{1}e_{1}have \alpha_{1} = 3 \delta = 3 = \alpha \cdot 3^{1} - 1 - \frac{3}{2} = 3\alpha - \frac{5}{2}$ $a_{n} = \frac{11}{6} \cdot \frac{3^{n}}{2} - n - \frac{3}{2}$

Theorem 6 Support 22.1 solves

$$a_n = c_1 a_{n-1} + c_2 a_{n-2} + \dots + c_n a_{n-k} + F(n)$$
 (*)
where $F(n) = (b_k n^k + b_{k-1} n^{k-1} + \dots + b_i n + b_0) s^n$
• If s is Not a root in the characteristic es
(I) $r^k - c_1 r^{k-1} - c_2 r^{k-2} - c_k = 0$
then there is a solution to (*) of the form
 $(f_k n^k + f_{k-1} n^{k-1} + \dots + f_n) \cdot s^n$
• If s Is a root in (I) and has multiplicity n
then then is a solution to (*) of the form
 $n^m (f_k n^k + f_{k-1} n^{k-1} + \dots + f_n) \cdot s^n$
Proof NOT PENSOM!